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»>> heights = {"Mike”:176, "Peter”:188, 3:166.8, 2:"6feetsBinches™, 5:"6°9\""}
>>> heights["Peter™]

188

>>> heights[3]+=10

>>> heights[3]

176.8

>>> heights[5]

6\ '0" "

>>> heights[2]

'6feets8inches’
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"Dickens":20, 4:2, "2":0, "Za":12, "aZ":8}
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5 <==> w={"Mary":18, "Tom":3, "Charlie":5, "Bob":6, "Dickens":2e, u4:2, "z":8, "Za":12, "aZ":8}

IE<==> del w["z"]

=> w["Mary"]=1
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=> w["Tom"]+=2
["Tom"]1=5

=> w["Bob"]?
Zw["Bob"]=6
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"Charlie":5
"Dickens":28
"Mary":1
"Tom":5
"Za":12
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=> del w
|ZEZMER—ELE . SHEEERF=E? (y/n) =>y
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